
TTR0050

NOTE：Please contact us in time. If you find any accessories
missing or damaged in the package,we will send you the
corresponding accessories for free.





4

5 7 8 9

10 11 12 13

14 15 16 17

18 19 20 21

CL

CR
DL

DR

P.1

1 2 3

X2 X1 X1 X1

X1 X1 X1 X2

X2 X2 X2 X2

X1 X1 X1 X1

X1 X1 SETS X31.5'' 16'' X2 SETS



  18  PCS

B Ø15X10 F

16 PCS

A M5X42

18 PCS

E

2 PCS

P.2

H

4 PCS

G

16 PCS

  2  PCS

K

M3.5X12

O

1 PCS

M

1 PCS

J

M4X12

4 PCS

L

1 PCS

M4X18 N

1 PCS

M6X45M6X35D

4 PCS

1

1

2

3

4

5

7

8

9

10

11

12

13

14

15

16

17

18

19

19

19

20

20

20

9

10

11

12

13

M5X50

3# 4#

C M5X40

  22  PCS



1

2

P.3

A M5X42

4 PCS

A

A

A

A

F

4 PCS

M3.5X12

3

5

F

F F
21 CR

F

F
F

5

F
21 CR21 CR



3

4

P.4

3

5

F

FF

F

F
F

F

F

4 PCS

M3.5X12
21 CL

21 CL21 CL

4

4

  2  PCS

B Ø15X10

B

B

Cam Lock Fastening System
1 2 3



5

6

P.5

4

3

  2  PCS

B Ø15X10

B

B

4

5

7

Cam Lock Fastening System
1 2 3



C

4 PCS

M5X407

8

P.6

C

8

C

4

5

7

C

C

M6X35D

2 PCS

H

2 PCS

M5X50

H

H

D

D

1



9

10

P.7

M6X35D

2 PCS

H

2 PCS

M5X50

E

1 PCS

M6X45

1

1

E

2

2

D

D
H

H

E

1 PCS

M6X45

E



P.8

11

20

20

20

3

3

Tip: Please remove the tape before putting on the top.

201

1 1

11



P.9

12

  2  PCS

KJ

2 PCS

M4X18F

8 PCS

M3.5X12

  8  PCS

B Ø15X10A M5X42

8 PCS

C M5X40

 8  PCS

9

Cam Lock Fastening System
1 2 3

X2

10

10

11

11

12

13

A

A

J

K
9

9

B
B

C

C

F

FF

F

21

21

21

21

DL

DL

DR

DR

F F

FF F

F 21 DR

F
21 DL



14

P.10

13

9

9

C M5X40

 4  PCS

C

C

C

C

The hole unifies upward.

16

15
17



16

P.11

15 A M5X42

6 PCS

16

15

  4  PCS

B Ø15X10

B

B
B

B

Cam Lock Fastening System
1 2 3

A
A A

A

A

14

14



18

P.12

17

C M5X40

 6  PCS

18

  2  PCS

B Ø15X10

Cam Lock Fastening System
1 2 3

B

B
14

C

C

C
CC

C

18

15 17



20

P.13

19

J

2 PCS

L

1 PCS

M4X18

JJ

L

14

G

16 PCS

M4X12

G

G

G

G

19

19

19

19

18

19

G

18



22

P.14

21

14


